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Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Write the functions of purchase department.

Write the meaning and objective of a good layout.

Define joint stock company. Described its 

Characteristics 

Discuss its merits

9.

10.

8

8

OR

OR
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

The oldest form of business organization is :

(a) Sole trading

(b) Partnership

(c) Company

(d) Cooperative

A partnership deed is:

(a) A written legal document

(b) A verbal understanding

(c) Not applicable by law

(d) Enforceable by law

OR
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Answer all Five Questions. 
8 x 5 = 40

Define cost Explain the elements of cost.

wages payments

OR

8

8

8.

7.
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(iii)

(iii)

(iv)

(ii)

Who is a members in cooperative tasking 

society:

(a) Retails

(b) Labours

(c) Agriculturist

(d) Industrialist

The minimum subscription is to be receive

in how many days:

(a)  60 days

(b)  90 days

(c)  120 days

(d)  150 days

OT5054 OT5054

Write the different types of business.

OR

OR

5.
4

4

6.
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(v)

(v)

(vi)

(iv)

The maximum number of partners in a firm 

has been specified by:

(a) Indian partnership Act

(b) Indian companies Act

(c) Indian contract Act

(d) None of these

Top administrative organ of the company is:

(a) Shareholders

(b) Managing directors

(c) Board of directors

(d) General manager

                                   OR

4.

OT5054OT5054

OR

Write the weakness of poor plant layout.

Discuss any four merits of centralized purchasing.

Write the advantages of time wage system?

3.

4                     

4                     

OR
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The admission of minor in partnership is,

(a) By unanimously

(b) By majority

(c) By minority

(d) Ordinary partner

The oldest method of wage payment system

is

(a) Time wage payment

(b) Price wage system

(c) Inclusive wage system

(d) Combined balance method

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4 x 5 = 20

Write any four function of store department

(xx)

OT5054 OT5054

4
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Who can adopt 'Table -A' in place of articles

of association?

(a) Public limited companies

(b) Private limited companies

(c) Company limited by guarantee

(d) None of these

The first step in production control is:

(a) Routing

(b) Inspection

(c) Despatching

(d) None of these

The company in which th capital of govt is 
more than 50% is known as :
(a) Public sector company
(b) Private
(c)  Partnership
(d) None of these

WEBER's deductive theory analyses the 
plant location:
(a) Factor's
(b) Price
(c) Labour
(d) None of these

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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In good plant layout means smooth 
production without any:
(a) Interruption
(b) Inspection
(c) Supervision
(d) None of these

In which form of  business there is direct
relationship between efforts and rewards:
(a) Partnership
(b) Cooperative societies
(c)  Sole Partnership
(d) Joint stock company

Which of the following is the principles of

store keeping:

(a) Principles of systematic arrangements.

(b) Principles of systematics issue

(c) Principles of inventory control

(d) All the above

Demand for and supply of labour is the 

important factor affecting.

(a) Wage rates

(b) Production rate

(c) Labour numbers

(d) All the above

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Genetic Industry is also known as .......industry

(a) Primary

(b) Secondary

(c) Tertiary

(d) None of these

Real wages means wages in terms of monetry

as well as:

(a) Non- monetry

(b) Cost

(c) Capacity

(d) None of these

Which one is the active factors of production:

(a) Land

(b) Labour

(c) Capital

(d) All of the above

Joint stock company is an ...... created by law.

(a) Artificial person

(b) Marketing

(c) Personal

(d) None of these

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)
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Discuss the merits of partnership.

Define production control. Explain Routing.

OR

11.

8

***

1732505 OT5054

Discuss the merits of partnership.

Define production control. Explain Routing.

OR

11.

8

***
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